1. Which of the following pressures favours filtration in the glomerus?
a- glomerules hydrostatic pressure 

b- glomeur colloid osmotic pressure 

c- arterial colloid osmotic pressure 

d- capsular hydrostatic pressure 

2. Which if the following will decrease GFR?

      A-relaxation of glomerluar mesegial cells ( relaxation of the mesengial cells increase blood flow ( will increase the GFR , contraction decrease blood flow ( decrease GFR) 
      B-prolonged urethral obstruction (disease will decrease the GFR)
      c- Decrease glomerular colloid osmotic pressure
      d- High blood pressure
3. Inulin clearance is equal to 

a- renal plasma flow

B-urea clearance 

C-GFR
D-Glucose clearance 

4. The renal epithelial cells reabsorb Na from the basolaterl membrane via:
      A-Na/K ATPase pump 

      B-Na/H counter –transport 

      C-Na/Glucose co-transport 

      D-Na-Cl co-transport  

5. Regarding the reabsorption of water :

a. 45% is reabsorbed in the PCT only if ADH is present 

b. 20% is reabsorbed in the descending limb of loop of Henle

c. 15% is reabsorbed in the thick ascending limb of loop of Henle

d. no water is reabsorbed in the collecting duct if ADH is present

6. regarding glucose   

a. all filtered glucose will appear in urine 

b. the tubular maximum for glucose (Tm is 475mg/ min)

c. all glucose is completely reabsorbed in the PCT

d. Glucose is reabsorbed through K+-glucose co-transport 

7. how will the lung compensate in the metabolic alkalosis ?

a. ventilation will go up 

b. there will be no change 

c. apnea will occur 

d. ventilation will go down 

8. if the there is acid-base disturbance, which of the following is the slowest respond 

a.. lungs

b. intra cellular proteins

c. kidneys

d. muscles 

9. if the clearance of a freely filtered substance is less than that of  Inulin 

a. there is some reabsorption of that substance in the tubules 

b. there is some secretion of that substance into the tubules

c. the substance is neither reabsorbed nor secreted 

d. the substance is totally excreted in the urine 
1. Cortical nephrons are located deep in the medulla (F)
2. Vas recta are the blood supply of the juxtamedullary nephron (T)

3. Glomerular capillary hydrostatic pressure changes will affect GFR(T)

4. the negatively charged molecule is the fastest to be filtered (F)

5. the filtrated fluid at the end of the proximal convoluted tubule is iso-osmolar (T)
6. the filtrated fluid at the end of the proximal convoluted tubule has glucose concentration similar to that of plasma (F)

7. Sodium is actively reabsorbed from the basolateral membrane at the PCT (T)

8.the golmerular filtration rate is typically equal to 700 ml/min(F)

9. 65% of the water filtered in the glomerulus is reabsorbed in the PCT(T)

10. the tubulo-glomerular mechanism is a negative feedback regulation filtration rate (T)
11-The hyper-osmotic is the filtrate in the thick loop of Henle is due to NaCl reabsorbtion (F) 
12-The slow flow rate of the filtrate triggers the release of rennin (T)

13-Rennin secretion leads to hypovolima (low blood pressure) (F)

14-The transport maximum of glucose varies with the length of the times Glucose is present in the tubules (F)
15-The clearance of PAH is equal to GFR (F)
16-Collecting duct is permeable to urea in the presence of ADH (T)

17-An individual suffering from  diabetes inspidius forms concentrated urine (F)

18-A counter current multipler mechanism is responsible for the maintenance of the hyperosmolar medulla (F) 

19-Micturition reflex id triggered when urine volume in the bladder reaches 30ml (F) 

20-A healthy individual will pass a small amount of hyper concentrated urine with presence of ADH (T)
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